

N° 174 pag. 1977

CALCOLA INTEGRALE UTILIZZANDO IL METODO DI SOSTITUZIONE

$$\int_0^{\frac{\sqrt{2}}{2}} \frac{x^2}{\sqrt{1-x^2}} dx =$$

Sostituzione  $x = \sec t \rightarrow t = \arcsin x$   
 $dx = \cos t dt$   $\sqrt{1-x^2} = \sqrt{1-\sec^2 t} = \sqrt{-\tan^2 t} = \tan t$

estremi: per  $x=0$   $t=0$   
 per  $x=\frac{\sqrt{2}}{2}$   $t=\frac{\pi}{4}$

$$= \int_0^{\frac{\pi}{4}} \frac{\sec^2 t}{\sqrt{1-\sec^2 t}} \cos t dt =$$

$$= \int_0^{\frac{\pi}{4}} \frac{\sec^2 t}{\cos t} \cos t dt =$$

$$= \int_0^{\frac{\pi}{4}} \sec^2 t dt =$$

$$= \int_0^{\frac{\pi}{4}} \frac{1}{2} dt - \frac{1}{2} \int_0^{\frac{\pi}{4}} \cos 2t \frac{2}{2} dt =$$

$$= \left[ \frac{1}{2} t \right]_0^{\frac{\pi}{4}} - \frac{1}{2} \left[ \frac{1}{2} \sin 2t \right]_0^{\frac{\pi}{4}} =$$

$$= \frac{\pi}{8} - \frac{1}{4}$$

dalle formule di duplicazione

$$\cos^2 x = \frac{1 + \cos 2x}{2}$$

$$\sin^2 x = \frac{1 - \cos 2x}{2}$$

$$\cos 2x = 1 - 2 \sin^2 x$$

$$\downarrow$$

$$\sin^2 x = \frac{1 - \cos 2x}{2}$$